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Quiz 2 : LAW 23 SITUATIONS

IN ALL CASES: WEST IS DEALER 
Insufficient Bid/Call out of Turn NOT ACCEPTED

IS THE BID IN RED A “COMPARABLE CALL”?

				S I T U A T I O N
	N O
	Y E S
	CONCLUSION

	1	W	N	E	S
	1H	1D
Replaced by
	1H	X

	
	
	

	2
	W	N	E	S
	…..	1D
Replaced by
	1H	X

	
	
	

	3	W	N	E	S
	…..	…..	1H
Replaced by
	1H	1S	2S

-if 2S shows fit in hearts and good hand

	
	
	

	4
	W	N	E	S
	……	2S (one suited)
Replaced by	
	1NT	2S (S+minor)

	
	
	

	5
	W	N	E	S
	……	2S (S+minor)
Replaced by
	1NT	2S (one suited)

	
	
	

	6
	W	N	E	S
	1NT 	……	2D (transfer)
Replaced by
	1NT	2S	2NT (Lebensohl)

	
	
	

	7
	W	N	E	S
	1NT 	……	2D (transfer)
Replaced by
	   1NT	2S	3H (forcing)

	
	
	

	8a.	W	N	E		S
	1NT	P	2D (transfer)      ……
	2H
Replaced by
		1NT	P	2D		2S
		Pass

	
	
	

				S I T U A T I O N
	N O
	Y E S
	CONCLUSION

	8b.	W	N	E		S
	1NT	P	2D (transfer)	……
	2H
Replaced by
 		1NT	P	2D		2S
		3H
Don’t play transfer breaks 

	
	
	

	8c.	W	N	E		S
	1NT	P	2D (transfer)	……
	2H
Replaced by
 		1NT	P	2D		2S
		3H
Play transfer breaks

	
	
	

	9	W	N	E	S
…..	P
Replaced by
          1H	P
	
	
	

	10	W	N	E	S
….	….	P
Replaced by
1H	P	1NT (natural, non forcing)

	
	
	

	11	W	N	E	S
	….	….	1S	
Replaced by
	P	P	1S

	
	
	

	12	W	N	E	S
…	1S
Replaced by
1H	1S

	
	
	

	13	W	N	E	S
….	1S
Replaced by
2H (weak)	2S

	
	
	

	14	W	N	E                          S
…	1D

Replaced by
2H (weak)	3D

	
	
	

	15      W	       N	                    E	                      S
		….		1NT (Strong)

Replaced by
		2S (weak)	2NT

	
	
	

	16	W	N	E	      S
		….		1NT (strong)
Replaced by
       	1H		1NT

	
	
	



